o| x4
x_24_r\/3_1
o 3
2+ 4
@ x= + V3

3

X =

® x=

0.3x% = 0.4(x - 3) = 2.1 o] S| &

2+4+2

3
2+ 435
3

Foh?




2. The oAl Z 2] ATt ohE Shr

® x2+12x+36=0 @ x2=10x-25
® 9-x?=4(x+3) @ (x+1)(x-1)=2x-2

B 2 =4x-14



@ x*-3x-4=0

D x*-6x-2=0

=0

@ 2x% —4x+2

@ 2x2-2x4+2=0

B 2-x-12=0



@ 2x24+x-3=0

D x2=6x-9

@ x2=14

@ x2+5x=0

B 2+5x+6=0



5. 4 6x+1l-a=00] shte] 2L 7H o), o 9 e Fotolet,

>R
=%



2 —drt k=5 =09 To] g, B4k

@ k>9

® k>-9

® k<9

94

&

94



2 +6x-5+2k=00] AR 2 T 2L 74 o, £ ¢

® 0 3 1 @ 3 B 8

D =10



b2 — dac
2a




i, A+ B

[l

=]

2
H
<

|

i

—09 2

3x2 +4x-1

0

0

%

o

o1}

ol
N

o1

@ 5 ® 9 @ 24 ® 32

@D 2






()
H+
S
b

11. 4()C—%) (x—l—%) =Ax-3 9 £l x =

Fatelet.

YR
=

2 o, 20 ke



12, (x-4)(x+2) = 2x(x-4) Y N7t a, B & W, 3aB<] G227

@D =5 ® -8 3 3 @ 5 B 8



ol

ol %

13.

ax+2a =09 T4 0, a o] 327

1

@ 3

@9






15, the o)Al FolA4 o] 47t ohe sk

@ 2x24+5x-2=0 @ 3x24+7x-2=0
@ 2x2-3x-1=0 @ x24+2x+4=0

® (x-22%2=6



16.

OJAFYGA 222 — (a+1)x+8=0°] FZ& 7t

e

s
=¥

=

d

o,

o

~
T

a

9

Ehs

ftlo



OJZPTAF A X2+ 10x+15+m =0 °] & A== m 9

s

x o ¥

17.

ol

@ -=10 ® 15

3 10

D 5



@ m<7

O m>7

B m>-7

@ m< -7



05(x-2)(x+1) = 1(x— 2)2

@ -7.2 ® -49 @ 3, -5 ® 14, 1

@D 1, -7



20.

ORI AA 342 — G+ k+2 = 0] S7F 171 ), 4 k
5t

D 1 @ 2 3 3 @ 4 3B 5

ftlo



